AMERER(HAREMH)

T = % AR—=Var R g FARLE (2 D2)
T F & gr  4i#Eh =252 N
A L B B AFfn o4 7 B 21 B R 10 B 30 4
2K 4 % ¥17,600,000- OBLERBNARD I BBl O G 12 Biod%E ¥1,600,000— )
T E Al K& ¥17,842,000- (Biir) ¥16,220,000- (Bitk)
= ¥16,022,472—-  (FiiA) f ¥15,933,262—-  (FiiA) 715 ¥15,996,779-  (BiiA)
FesIR s . . .
¥14,565,884-  (Fitk) A ¥14,484,784~ (Fi$k) H ¥14,542,527- (Fidk)
T g1 SERl HE A H 26 &f 4 4 10 H 24 H
By 3 SALAR— i L
A M & % e
Z_—% Y e — Yara
- A #L % moF RN Eol] ERTE i B
LB .
: <7ﬁ>£§3 % -
Mk
2 <ﬁ>;§§;§ﬁ ¥16,220,000
X e
3 bk ALT ¥16,000,000 WAL
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

20




